
 S-TINES  -  2022 
 ITEM # DESCRIPTION  

 200001 3210560 Standard S-Tine 32 x 10 x 560  
  

 200002 3212560 Heavy Duty S-Tine 32 x 12 x 560  
  
 200003 3212660 High Clearance S-Tine 32 x 12 x 660  
  
 200004 4512660 Heavy High Clearance 45 x 12 x 660  
 
  
 
 
 POINTS 
 200005 4062090 Reversible - 42 x 209 x 6 1/4"  
 200025 6063716 Reversible - 60 x 260 x 6mm 1/4", 7/16 hole  
 
 200039 302005 Duck foot Point 2-3/4 x 4mm 10mm hole  
 200040 302025 Duck foot Point 2-3/4 x 6mm 10mm hole  
 
 
 SWEEPS 
 200009 4006100 Sweep, 4" x 6mm x 1/4"  
  
  
  
  
 CLAMPS 
 200014 1002020 Clamp, 2 x 2 for standard tine  
 200016 1022020 Clamp, 2 x 2 for heavy 45x12 tine  
 200019 1042525 Clamp, 2-1/2 x 2-1/2 for 45x12 tine  
 200018 100202 Clamp 12mm 2 x 2   
  
 
 BOLTS 
 200011 1003800 Bolt and Nut. 10 x 38 mm  
 200012 1004500 Bolt and Nut, 10 x 45 mm  
 200029  Bolt and Nut, 7/16 x 3/8 x 1-3/4   

 
 
 
 
 
 
 
 PLOW BOLTS  GR 5 #3 - w/Nuts   
 ITEM # SIZE LIST/50 BOX  

 209901 3/8 x 1  PLOW BOLT CLIPPED HEAD – w/Nuts  
 209902 3/8 x 1-1/4  ITEM #   LIST PRICE 
 209903 3/8 x 1-1/2  208063 3/8 x 1-1/4  
 209904 3/8 x 1-3/4  208065 7/16 x 1-1/4  
 209905 3/8 x 2   
 209910 7/16 x 1-1/4   
 209911 7/16 x 1-1/2    
 209912 7/16 x 1-3/4   

 209913 7/16 x 2   
 209914 7/16 x 2-1/4   
 209915 7/16 x 2-1/2   
 209916 7/16 x 3   
     PLOW BOLTS GR 5 - Oversized head – No Nut 
 ITEM # SIZE LIST/25 BOX ITEM # HEAD      BODY   LENGTH LIST/50 BOX 

 209920 1/2 x 1-1/4  209930 7/16 3/8  1-1/4  
 209921 1/2 x 1-1/2  209932 7/16  3/8 1-3/4  
 209922 1/2 x 1-3/4   
 209923 1/2 x 2  209940 1/2  7/16 1-3/4  
 209924 1/2 x 2-1/4  209941 1/2  7/16  2  
 209925 1/2 x 2-1/2  209942 1/2  7/16  2-1/4  
 209926 1/2 x 3  209943 1/2  7/16   2-1/2  

 

 

 HEAD OFFICE 20 ARTHUR STREET NORTH, ELMIRA, ONTARIO N3B 1Z9 

  TEL: (519) 669-4025 FAX: (519) 669-1436 
  

 ORDER DESK e-mail: orders@walcoequipment.com 

  TEL: (519) 669-1401 FAX (519) 669-3499 
   

 QUEBEC OFFICE 364 RTE.122 ST. GERMAIN DE GRANTHAM, QUÉBEC J0C 1K0 

  TEL: (819) 395-5115 Fax (819) 395-2624 
  e-mail: walcoqc@walcoequipment.com 
                     

  

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

mailto:orders@walcoequipment.com
mailto:wolcoqc@walcoequipment.com

